
Component 8/Unit 7: System Interfaces and Integration

Self Assessment Questions 

Instructions: Choose the best answer for each of the following questions. 
1. Which is NOT a reason why integration is an important consideration when installing an EHR?

a. Existing systems can usually share data with newer systems without additional programming or configuration. 

b. Many existing systems are too expensive to replace.

c. Many different isolated systems currently exist within healthcare infrastructures.

d. Many existing systems are tailored to meet specific departmental needs and not easily duplicated.
2. Which definition is incorrect?

a. An interface is a point of interaction between components.

b. Point-to-point interfacing involves connecting systems end to end, as if in a chain, so that each connects to no more than two others.

c. Integration is the process of connecting various subsystems into the larger system, ensuring that subsystems function together as a whole.
d. An interface engine routes data through a centralized location.
3. Which statement is true of the point-to-point interface method?

a. It is a newer, less traditional method.

b. Data is routed through a centralized location. 

c. Its direct linkages can provide secure transmission.

d. Both B and C

4. Which statement is true of an interface engine?

a. More separate connectivity points than point-to-point

b. More flexible and scalable than point-to-point

c. Easier to install and maintain than point-to-point

d. Both B and C

5. Which statement is NOT true of an HIE?

a. “HIE” stands for Health Improvement Enterprise.

b. It maintains the meaning of healthcare information as it moves between disparate systems.

c. It can be used for integration between EHRs.

d. It can be set up privately or regionally.

6. Which is NOT an advantage of integrating EHRs?

a. Enables hospitals to share patient information.

b. Enables providers to meet the HITECH “meaningful use” criteria.
c. Enhances billing/payment and reform initiatives.

d. Improves security and privacy of patient data.

e. Streamlines workflows between hospitals and clinics.

7. Which is NOT true of HL7?

a. Creates communication standards for use only in American healthcare applications. 

b. Promotes open system architecture.

c. Created a structured, message-oriented framework for communication between healthcare applications.

d. Created a messaging standard that uses segment headers and delimiters to communicate information.

Answer Key for Unit 7
1. A.
Ref: Slide 4. 
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2. B.
Ref: Slides 3, 7, 9. 
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3. C.
Ref: Slide 7. 


Objective Reference 1
4. D.
Ref: Slide 9. 
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5. A.
Ref: Slide 24. 
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6. D.
Ref: Slide 21. 
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7. A.
Ref: Slide 12. 
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